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Read carefully the instructions given on this page as well as on the back page of this Question-Booklet
before you open the Booklet and begin to answer the questions.

GENERAL INSTRUCTIONS
(Please read these instructions carefully)

. Candidate must write his Roll Number at the
space provided on the top left hand side of
this page.

. Candidate should mark his answer only on the
Answer-Sheet which is being provided

separately.

. Itis most important that a candidate should fillup
all the relevant details in Side-1 & Side- 2 of the
Answer-Sheet with black/blue bail point pen only.
If any of these details are not completed by
candidate or filled incorrectly, his/her Answer-

Sheéet will not be evaluated.

. Thereare four parts in this Question-Paper. -
Each part contains 50 questions on the following
subjects.

Part] - Generallntelligence & Reasoning
Part]l - General Awareness & Professional
Knowledge

Partlll - Numerical Ability =
Part IV - Comprehension & Communication

skill (English).

. Part- 1, II, IT & IV consist of 50 question each and
arebilingual except Part - TV.
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L {f 'ﬂ’i{' is cﬂlle:d ‘g‘rcenn ‘green’ is called ‘red’, 4 Tfy ‘gar WO, BT DG,
.red > cﬂ{kd sea’, *sea’ is called *blue’, ‘blue’ i A L F er, Her ® W dR
is called _"""ﬂlﬂf and ‘water’ is called ‘pink’, T By A FET AW & fihy g &7 9
then what is the color of grass? a
A. Green B. Air hil =
J Red D. Pink bV {u{\. & LAY
. v e Dt:’ g
| Lr\'ﬁ't'l“ c,_v:l-t‘ ) - R v
G g7 o ¥ W
omplete the given series by finding the " N . ) ;
@ missing term \eF2.  TEE HE gEa o TE e B OGR PN
5,15, 45,225, 1125, ? w0 5, 15, 45, 225, 1125, 7
A. 5625 B. 1125 W B A.5625 B. 1125
C. 1500 D. 2250 " _}’..5-;-&‘; C. 1500 D. 2250
AT Wit -ﬂ*
g :

3. Pointing to an old woman, Aryan said “Her son "\ﬁ"},. 3. UF g Al I AR g F g, AT A
is my son’s uncle.” How is Aryan related to old PET "I 'f"ﬂ% a2 BT e B A 9=
woman? Afger ¥ H¥ wafa 87

A, Mother B. Sister A B. 987
w&'fﬂnn ‘D. Daughter C.94 D. 9=

4, If, in a language, ‘one’ is called ‘two’, ‘two’ is 4. Tfg fed wn T ?ﬁfﬂal" ‘|l B A
called ‘three’, ‘three’ is called ‘four’, ‘four’ is L 0 e ol e o | e 1
called ‘five’ and ‘five’ is called ‘six’. Then BE FEI W gl | R F T s g ?
what is the square of number 27 A= B. 9
A. Three B. Four C.dfa D. 9%

\E: Five D. Six
5. arqufera HwEar &1 uar e

5. Find the missing number 1,4,8,13,7,26
1,4,8,13,7,26 A. 15 B. 19
A.15 ‘-34’ C. 20 D.21

I C.20 D. 21
' 6. Anita and Geeta are experts in dancing and 6. Il R T T R W

music, Seeta and Geeta are expert in music and
painting. Anita and Neeta are expert in debalte
and dancing. Neeta and Seeta are expert in

’ Painting and debate. Which girl is not expert in

war sy e Wi aiR RrEea
et &R far ae—faaE &R 7=

£ Jar ik diar fEerd iy ae—faae 3
frgur &1 @ A TS FFHar 7 g T2

-, painting? \ LB
| “Anita only B. Seeta only * [{:t‘i oA et et B. dad A
C. Anita and Geeta D. Neeta only 9@_0}" " "f'-. C. 3frar &R - D. @de Al
( f’?\/ - W QN ©

Lh{ !r Y@ ot ot a ¢ " ) v

X Y

\‘H‘l’ ’:ll.g'lq| ['-1 -“:j |: r_ﬂ }‘l v-u_ll'ﬁc.\-

| -..'1 -3
Ly
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.
7. Suresh, the son of Mahesh is married to Sia, 7. MU D R QTR T RAAE S, 14.
. whose sister Jia is married to Amar, the brother Rrgesr qg= foram @ A< w & T apR R
of Suresh. How is Jia related to Mahesh? g5 ¥ | forn w9 @ $9 Hdlw 27
. Daughter in law B. Cousin o A98 B, &for
C. Sister in law D. Sister C, =7 C. 9l ‘ D. 989
(= Lo ﬁ;f'
28 =
AN 8. 2 fagw qd wfar or| &) XA a1 B @
8. The day before yesterday was Saturday. What R BTT?
. day will it be the day after tomorrow? N
A. FTeldR B. 984
A. Tuesday B. Wednesday { \ A\ C D i
G¢Thursday ., D.Friday- S 3 3
o g .:;;rq“-‘ﬂ".' ' Gt
[‘:,;r-_*_ir i S ,
9. If FRIEND is coded as HUMJTK, how can 8. & T@ PI$ T H, FRIEND aﬁﬁHUMJTKﬁ
CANDLE be written in that code? 8 ¢ w\) %9 ¥ forar S 2, oY 96 PIS ¥ CANDLE
A. DEQIQM B.DCQHQK ¢ ?-(@ﬁa | - forar wmgm?
\'F{‘EDRTRL D. ESJFME o~ Otla i\ A.DEQIQM B. DCQHQK
' . C. EDRIRL D. ESJFME
A |
10. If 'eraser' is called 'box', 'box' is called 'pencil’, 10. AR} 'O & 'dEw, Qe BrOGRY
'pencil' is called 'sharpener’, and 'sharpener’ is U @ IR el wdER 7 i wE
called 'bag', what will a child write with? bLot ¢ ST €, o Us gy ey fera?
A. Eraser B. Bag g % A, TR ' B'&‘T '
C. Pencil 1_p¥§ha]pener 0, 4 N C. et D. MR
. B
. Ol AT s 2 el
@1-. Poles : Magnet :: ? : Battery : 7 G R S _
A. Energy B. Power v~ : . -
C. Terminals D.Cells cefed  -D.¥w
12. Choose the figure which is different: 12, 98 AP I W B @
. ol || o] F i“ A . '--'- :" o F_"..
m @ 8 m @ @ @
Al : B.?2 ~ Al e B.2
- 1 y L D. 4
2.3 D4 c.:3
' 13. Choose the figure which is different: 13. 98 G!TTﬁ’T %"éf EIRE S+
Mm@ @ @ ['m 2 B @
Al B.2 Al B.2
L3 D.4 C.3 D. 4
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14. Choose the figure which is different: 14, T8 AP T o = & .
AaH+100|[4 AalH+Ool[14
n @ 3 @ m @ 6
A.l B.2 . T B.2
B S 4 C.3 D.4 .

15, 98 ARy ¥ S tet B o e &

15. Choose the figure which completes the pattemn

- o
. [a] | ey /"--\ '
o// T\\* 5
. \_ . ]
Q
- ] \- o . _/ 0
NI | % | E B
: [A) (B) (C) (D)
B.2
A B (C) A (DY~ Al
A[ 1l * v BB J c.3 D. 4
C.3 \__Df.:i
: ; ; ; -
16. A student is ranked ¥3th from right and 8th 16 ‘f BT 7Y 3 ﬁ;ﬁéiﬁ? A
from left. How many students are there in total? | et faa ‘ !
18 B. 19 n A.18 N B.19 -
G20 pal R : . c20 - D2l

- . - : " c - &
17. A father is 30 years older thar his son. He will ,..Q 17. X® ﬁﬂTmﬁéﬂ 30 T -FEl Bl @& 5
be three times as old as his son after 5 years. 1\ I ORE aE = aé_ 3! S W o
What is the father's present age? A & S | faar & adar g, 941 87

A.35 . \9-/45 . “n 5. A 35 B. 45
T
Vo 7
Tl :;-
_ VAN
lllli_ﬂ /‘}'.I' .
N
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ich o ol R
18. Select a figure from the four alternatives, ‘-‘-’m:’{h 18. TR fApeal 4 4 U@ AP T, N R
completes the pattern when placed in the hlﬂtﬂ- (x) % & oM W ¥ B kS ‘.Eii'EEI.I .

space of fig. (x). !

\ .
(*

o pode _ i A fl I s
@ 0 " _.
L A0 [ Il

19. Choose the alternative which most closely 19, A=ferfag fAEi § & &9 iﬂTﬁ‘ﬁT eI m
| reserlzllbles_. the mirror-image of the given o &1 <dvr & gfefe= guiar @
' combination. .
| . STROKE
STROKE - - I 0AT2 '
: A. : ~ RTS
A. 2THONT B.EKORTS BTHC:I-: g :'})I(EHTE
c. ROK : ua A
c. ROKETS INORATR B
20. If P and Q are odd numbers, then which of the 20. If% P &R Q faww Wy ¥ o ﬁﬁrma 3§
following is even? j ‘ R D LR L ' el
P+Q . B. PQ a2 & ”’”‘““mé” g
*-i‘ o , = y PLASS A.P+Q : B. PQ -.
P+Q+ PQ+ @9 ) C.P+Q+11~ D.PQ+2" -

21. Find the one which does not lﬁe}ﬂng" to that

group 7 St , iy pisd
A3 . \B“l/ SRR, A3 . B.4 i
C.5 . . D9 . __ - " Dadgmn
22. Choose the aitem;ativa whjcﬁimos-t gIosaly' ' S Ve AR 1 ~. i |
resembles the mirror-image of the g'iven' _ 2 o Fr fRg i

combination. ﬁﬂ il TﬂhT ﬁ qﬁzfﬁ]lﬂr “ii I % . I

BUZZER \HES-‘:’- e s BUZZER )

wA3ssSUa. » REZZUB- ~A3ssvE- * REZZUB-
cGUSI3A. ' »A3ZSUE. <8USS3A. *A3ZSUg

3 e
xS Ak
i \ r} "ﬁ'"'

Page -5



A ftestbook.com

. d/letters/numbers from
23, Select the related e - ¢

the giveD alternatives: - o
Book : Pages Wall : ?

24, Look at this series: 36£ 30, 28 24 .. What
qumber should come next: W u
A.20 &ﬂz
C.23 D. 26

25, From the given alternative words, select the
word which cannot be formed using the letters

of the given word:

CHRONOLOGICAL

A. CALL B. LOGIC

C. CALICO B ANALOGY

26. Insect : Disease :: War: ?

A. Army B. Defeat

C. Arsenal P~ Destruction

Which word does NOT belong with the others?
A. tulip B. rose «"

C. bud D. daisy

28. Which word does NOT belong with the others?
- guitar “flute
C. violin D. Sitar

@ Which word does NOT belong with the others?
A. couch B. rug w"
C. table D. chair

@ If TOUR is written in a certain code as 1234,
CLEAR as 56784 and SP&RE as 90847, what
will be the 5th digit for SCULPTURE i in the

same code? \
A3 /B/ 4
C.6 D.0

31. Fill the blank in 1he middle of the series

QPO, NML, KJI, V &4F  EDC
A HGF B. CAB

C.JKL D. GHI

23

24,

25.

26.

27.

28.

a0.

3.

» Download Testbook App

frg g Rrwedt ¥ A Wil TR/ wEeos
HE&T BT TIT BY

Book : Pages :: Wall : 7 .

A.SAND B. CEMENT
C. BRICKS D. STONES

o9 e BT o 36, 34, 30, 26, 24, ... I
T 9% AT AEY?

A.20 B. 22

C.23 D. 26

T & FT wAE B o Ry M v B
amﬁ?ﬁraqa‘mma%aé’rwmﬁm%

CHRONOLOGICAL

A. CALL B. LOGIC

C. CALICO D. ANALOGY
i I ¢ Ig:?

A, O B. ¥R

C. smguemem D. e

P T TR wEl g T 8
A. tulip B.rose

C. bud D. daisy

B |1 T SR TRl W | e 7
A. guitar B. flute
C.violin - D. Sitar

P W T gy vE] G wEa qol 87
A. couch B. rug

C. table : D. chair

af e Ffdaa wre § TOUR 31 1234,
CLEAR &1 56784 it SPARE T 90847 &
wu A forar orar &, o o wrs A
SCULPTURE @ fofu sdi 3@ @41 ETT?

A.3 B. 4

C.6 D.0
3 = # fimn i LR

QPO, NML, KJI, . EDC

A HGF B. CAB

{:'JKL D. GHI
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4. Find the minimum number of straight lines 32. @ Tlﬁ g?fa ﬂﬁﬁ_#’" ﬁ;zmarw W
required to make the given figure. Y@ I ~AdH ?’i@l. aﬁﬁ;'q' :
Kz B. 15 A 13 B.13
c.17 D. 19 C.17 :
33, & ¢ e T9F & AU IS W
33. Find the minimum number of straight lines .
<IAdH el GIfoTy |
required to make the given figure. it ?ﬁT =1
A9 _B 11 A9 B. |
C. 15 D. 16 C. 15 D. 1
34. Find the number of triangles in the given’ 34. fRv Y angpfa § Bl & dwen =g -
figure. . Py
C.6 D.7 ; C6 S e
35. Self,:ct a suitable figure from the Answer 35 SR H W U Eq‘gfﬁ GTITE'T ﬂ'ﬁl ST e Fn‘la
Figures that would replace the question mark (?) @ W ST |
Problem Figures: q Answer Figures:

(7. .
Problem Figures: Answer Figures: %(ﬁ @ ? ﬁ % & lﬁ!

%(@ @ : % = & % (A). (B) (€) @ - M @ @ .4
“ B8 (@© o M @ @ @ Al Y FRT el - S :

A. 1 B.2 ol B -
3 D. 4 '

36, T ¢ NEIS : FERR : ?

36. _Dcrg : Rabies :: Mosquito : ? :
A. Plague B. Death A. @IT B. 9
E G- Malaria D. Sting C. 7l ; D. et
g
/ . : “ SR
37. Doctor : Diagnosis :: Judge : ? 37. S SR R4
A, Court B. Punishment A. GO B. 9a7 ")
C. Lawyer "H._,D' Judggment C. a-a.ﬁﬁ D. mﬁt ;
-8 -
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ﬁmﬁmwﬁﬁ#% .

38, Choose the figure which is different from the

a8,

i, rest.

[ M (3] 2] iy

E -0 o o @ ®
A1 E‘li C.3 D. 4

39. € i g, o Yot B g wa 2|

30, Identify the figure that completes the pattern,

e
. |+
=] 7 % ? Eﬂ E
\ i L7 (%) (1) (2) (@) (4)
X} (1) {2} (3 (4) Al B.2
Al B.2 .3 D.4
e 3 D. 4

40. How is Ramu's mother-in-law's only daughter’s 40. Y @ AR B THAE! 9 1 der 9 o

—
son related to Ramu ? ﬂg y 3 w27
A'. Nephew B. Brother % e o
J;:‘f Son D, Uncle R Y 5

@. Pointing to a man on the stage, Rita said, " He
is the brother of the daughter of the wife of my
husband." How is the man on the stage related

41. W9 W UH ARh B AR FIRT B g5, v
J FEL gE R gy B a1 AN B oo

R 21 Nar 9 el Hu ux emedy dwy 27
A. Son B Husband A 44 B. qﬁ
C. Cousin D. Nephew & D. T
@. A, B, C and D playing cards. A and B are 2 A sﬂ' %@W D @/ @ W@ 2 A 3R B
partners. D faces towards North. If A faces T lﬁD mﬁ%ﬁﬁg E:j[ AR Bl AR A
p towards West, then who faces towards South? %ﬁ T 27 ; aferr B s
A.B B C A B s
C.D D. Data inadequate C.D D.. =TT Sty &
@P' Q. R and S are playing a game of carrom. P, 43. P, Q RIRS s & wed, W e 81 P, R
R and S, Q are partners. S is to the right of R dRS, QWrfier €1 S, R & T 3R & o
who is facing west, then Q is facing? uf¥em # R B, @ Q fay fewm &1 e g
A. North _B-South B daT 87 -
C. East D. West A, IV B. =f&mor
C.qd ¢ D. uf¥=m
; Q
4 ot
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44, Aﬂ‘er walking 6 km, I tumed ri ght and govﬂfc’:
a distance of 2 km, then turned left and cﬂ‘f"i";ﬂ
a distance of 10 km. In the end, ] was |]]|',_‘.|'n’1”I
towards the north. From which dircction did
starl my journey?

A. North
C. East

\B'."Snuth
D. Wesl

45, Pick the Odd man out: 3, 5,7, 9, 1 I, 13
A.3 B 5'
C.7 D79

R

North. He then

46. Gaurav walks 20 m towards
ms left

turns left and walks 40 m. He again
and walks 20 m. Further, he moves 20 m after
turning to the right. How far is he ffﬂl’f‘-his
original position? 1'
A.20m B.30m

C.50 m .D.60m ”

47. Arrange the following in the correction

sequence.

1. Table 2. Tree 3. Wood 4. Seed 5. Plant
A.4,5.3.2,1 B:4,5,2,3,1
C. 13,245 D. 1,2.3.4.3
48. Pick the Odd man out: 1,2, 4,8, 16,32, 64, 96
A4 B. 32
C. 64 . D96

age, MADRAS is coded as

49, If in a certain langu
coded in that

NBESBT, how is BOMBAY

code?
/CPNCBX B. CPNCBZ
C. CPOCBZ D. CQOCBZ

In a certain code, COMPUTER is written as
RFUVQNPC. How is MEDICINE written in

y

3
Hﬁmwﬁmﬁwﬂﬂgﬁﬂﬁ? ;_:
* e '

1|

» Download Testbook App

44.6%@%%,13‘313[@@1'%%
mﬂmaﬁ,mwwmwﬁiﬁ

T W) ofg #, § IR B

A IR B.
. Cud p. uf¥ad ;-

45, T T 0 3,5,7.9, 11, 13
A3 B. 5
C.7 D.9 @
46. TiRa TR A 3 20 Hex woar ol T A
"““{Wﬁaﬁ?mﬁaaﬁm%lﬂ?mﬁ
ad g & 3k 20 Arew gen ¥l WD A
ﬁﬂmwzﬂfﬁﬁm‘%]ﬁaﬁ.
7o ®IE ¥ e g1 87

A. 20 Miex B. 30 Wex
C. 50 HIg? D. 60 HeX

47. ﬁwﬁ{ﬁﬁﬁﬂﬂﬂﬁ’l;ﬁqﬁmﬂmﬂﬁ1
1. 29 2. US 3 TS 4 S 5. T @

A. 45321 B.4,5.2.3.1
C. 13245 D. 12345
sg. T T :1,2,4,8,16,32,64,96
Ad B.32 | (
C. 64 D.96

40. TfE TH BIS s 3, MADRAS @1 NBESBT
& wq ¥ fora@n Wl ®, q1 94 @IS |

BOMBAY ¥ ferem AT
A. CPNCBX B. CPNCBZ

C. CPOCBZ D. CQOCBZ

g, A T@ TS W 5 COMPUTER @
RF{WQNPCfﬁ?ﬂqﬁﬁ-{ETGﬂﬂT%,?ﬁﬂ
e % MEDICINE B foram e ?

the same code ?
A BQiDIERY /6. EOJDEJFM A EOJDJEFM B. EOJDEJFM
.MFEIDJOE D. MFEDJJOE C. MFEJDIOE D. MFEDIJJOE
o R N
L ot {.]’? " r Ly b
f L JA

Page - 9
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Which type Of £ file is created by word

Matahﬂsﬂ file

C. graphical file

B. worksheet file
D. document file

52, ‘Panchatantra’ was written by:

A. Kalidasa B. Banabhatta
G Vishnu Sharma D. Tulsidas
The famous book *‘Geet Govind® wias wrilten
by: _ o
A. Banabhatta B. Mirabai
C. Jayadev D. Kalidas

@ 'Give me blood I will give you freedom’ these
3| staterment are attributed to:
i A. Khudiram Bose

B. Sardar Patel e
C. Lal Bahadur Shastri -
D. Jawaharlal Nehru

|
i B. Subhash Chandra Bose / 6
C. Bhagat Singh
| D. V.D. Savarkar p
|
: 10 coined the slogan 'Jai Jawan Jai Kisan'?
: A. Mahatma Gandhi '
|

'l 1 . "
2 @ The first woman President of the Indian
National Congress was:

A. Annie Besant B. Kasturba Gandhi

C. Vijayalakshmi Pandit D. Sarojini Naidu

. Who founded the Banaras Hindu Unweﬁ]ty'?
A. Jawaharlal Nehry
B. Mahatma Gandhi
C. Madan Mohan Malviya w2
D. None of these

The intensity of earthquakes is measured on:
A.Richterscale .— B, Secant scale

e an:auﬁ}n scale D. Merealli scale

59, The capital of Lakshadweep is:
A. Aizawl] B. Kavaratti "
- C. Port Blair D. Silvassa

W
W

=11-

» Download Testbook App

& AR HUT gRT W weR B B

51'amgrﬂrrﬁ%?
A, SEEE WIEA B. g@dilc WA
C. mitheel WIge D. Stayie wigd
52, “dacE e g feran wan o
A. TR B. @TURTE
C. fawr wmf D. TedETd

53, Ufdg RESED g mifde fBras g e 78
oft:
A, groTHE
C, wWued

B. YRMETS
D. HTeard
54, T T A B K R AT 5T TE wee
fra et &
A. WERTA 919
B. YY 9% 919
C. wra RE
D. drS1|maeay

55. ‘W WA g [ g8 9 e Ry oo
A. ABHT TiER
B. ¥ER Ued

C. &1 98Tgy 9t
D. Sasald J8%

56. WU SR B $T1 Taeil AfRar ammey off

AT ¥ B. car i
C. Rumest dfea DRI g

57. aTH f¥g fasafoemery & wmo e a2
A. SRR EE
B. AET iRy
C. Fa AreA W
D. 74 9 &1 7&

S8. &Y HY Tadar B feay amr wrer &

A. Rgex wd B. 9®E el

C. epie whel D. Hdhoell el
59. FEEg 7 voErE &

A. agarad B. Hawil

C. YI¥ =hw D. Ryerarar

Page - 10
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60. Which is the world's largest desert? o
A. Thar ; B. Sahara
C. Takala Makan D. Gobi

pr &
61. The members of Lok Sabha hold office f 81, S & wew @ i@ BT €

term of
A. 4 years B. 5 years g g 4 af B.5 :i c
C. 6 years D. 3 years .8 @f D.3
62. The Instrument used for recording carthquake 62. Yoy o0 RFiféT @ forg gwmr favar i
is: qTell IuEHRr (
A. seismograph B. barograph A. Rreimme B. aRIATH
C. pantograph D. hydrograph C. s D. BESITE
63. Sultan Qaboos bin Said, who passed away 63. e Wy A Wiz, frer g & A e,
rec%nt]y. was the King of which country? BTl o, e ]9 &1 ron oy ?
A Saudi Arabia B. UAE A. TFHET 3RT B. 343
C. Qatar D. Oman Bl D. 3ATE
_ Which would be the highest Railway Bridge in 64. ‘ILUT BF & 978 ANd @I gy Sl Yera s (
India after completion? B B
A. Chenab Bridge B. Brhmaputra Bridge A g B B. gargs &9
C. Howrah Bridge «  D. Indira Setu C. st e D. gfe= 914
@. The Indian GPS system developed by ISRO is 85, SH ERT ﬁzﬁﬁm’ AT, ST AT 1
known as M E
A. NavIC B. Indostar A AfaE B. S8CR
€. Indoguide D. India GPS C. TermES p. sfear SdTH
66) Which among the following does not correctly 66, Brfafga o ¥ SIF WA [T B AT
denotes the headquarters of Indian Army’s TS B A ok NG eI &7
Operational Command? A. & A — BieTdTl
?,A./Eastem Command — Kolkata B. qf¥ed Bae — =<y AR
B. Western Command — Chandimandir C. Sedt FEM — SUARR
C. Northern Command — Udhampur D. i Bar — T8 '

D. Southern Command — Chennai

67. ﬁﬂﬁfﬁﬂﬁﬁﬂﬁqwmg'ﬁﬁ'ﬁw

67. Which of the following is the famous battle that o B e
Rana Pratap fought against Akbar’s forces? JTg | AT B Bﬁﬂﬁiﬂﬁ GEIRE
A. Panipat B. Plassey A, T D- Sl
C.Haldighati ~~  D.Kalinga C. semErel e

68. Who among the following was the first woman 68. ﬁ""lﬁfg: ¥ QP ofafe ¥ o awell
to go to space? Afgen Al

_“A. Valentina Tereshkova B. Sally Ride A. ﬂ'@i’cﬁ;ﬂ Rgpar B, Hell WS
C. Liu Yang D. Sunita Williams c.fog am D. gtar fafeas

-12- . ‘J
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P -h of these places, is the Kumbh Mel R
: 'Z,:bl;:ed? ; %.gmﬁmﬁﬁﬂwmwwﬂ?

A, Haridwar " B Bhopal A. BRER B. arel

C.. Surat D. Thiruvananthapyrgy, C. 34 D, ferea-aqed

Who among the following was never a Chijef 70, FrfeEd § A o of wra @1 7@ A9

Election Commissioner of India ? ST T T 7
A. K.v.K.Sundaram *~='Bﬂ".5waminathml ‘9

, A. B0 H G B. €. AR
¢-R.K.Trivedi D. R.S.Verma C. AR DL D. T A
@ The first nuclear-ﬂxp]ﬂsion in [m:l.ia was b 5 | 5
conducted at which of the following? 2 el IR favpre Fmtiend
wel uv farar enn?
“Pokhran B. Bombay ~n’ y
D. Sriharik A. UrERI B. U
i Y g
C. Nellie ota C. 5
TZ.' The national anthem of India ‘Jana Gana Mana’ 72, AR BT TS S 0 A G TEd —
wf;’lffﬁrst sungat __: o g 3 T T O 8
C. Delhi, 1911 D. Mumbai, 1912 C. feeil, 1911 D. %€, 1912
Who defined democracy as a “Government of 72 foby oiidad B AT B GYGR, Sl R
the people, by the people and for the people™? sy e @ e @ T A qRf
A, Ruskin . Plato A, TRF B. =rEl
C. Aristotle D. Abraham Lincoln C. IR D. agEn o=
74. Sabarimala is located in which of the following 74, warTen FyefafEd § @ few o # Rerd
states? 14 | 1
A. Kerala " B. Andhra Pradesh A, B B. a1y w29
C. Tamil Nadu D. Odisha C. afferg D. anfean

75, Frafafaa 3 ¥ g Qe & g @1 IUAm

75. In which of the following games, ball is not

used? &1 fhar wiren 87 )

A. Cricket * B. Football A. frae B. Hedidt

C. Badminton D. Tennis ' C. d=fieq D, efFs
¢ - T @Y Prffae i 9 fea amle
3‘9 Baba Amte is known for which of the following 8 E > Rore ST T e

social work?

- Work for Poor & homeless people
B. Work To Save Ganga
C. Work for Leprosy Patients

A, T8 ik JER @il @ fg @ e
BT Y ga @ 0 PR
C. 5 Sl B Rig FF P

& feiT BH
D. Work for Landless laborers D. 'ﬁq@q W i -
77 Frfaiea 3 @ g @ 4, RMS Tefi® 3
@ In which among the following years, RMS T
Titanic sank? - A. 1911 B. 1912
A, 1911 E-.fl912 . C. 1913 D. 1914
C. 1913 D. 1914 ' '

e »

Page - 12



A ftestbook.com

pers
em
78, What can be the maximum number of m

of the Lok Sabha 7
A, 545
C. 552

B. 550
D. 560

The first talkie film in India was /
A. Raja Harishchandra B, Alam Ard ‘
C. Chandidas D. Jhansi ki Ran!

@i ‘Subroto Cup’ is associated with which E"”ﬂcs;
sports ?
A. Hockey
C. Basketbal]

B. Football *
D. Badminton

81. Where is the permanent headguarters of

SAARC? )
A. Thimpu B. Dhaka X
C. New Delhj D. Kathmandu =

@ Guwahati Hlnh Court i the judicature of
A. Assam B. Nagaland
C. Arunachal Pradesh /D/AII of the above

83. India's first satellite is named after
A. Aryabhatta «~ B, Bhaskara II
C. Bhaskara I D. Barahmihir

84. Indira Gandhi was assassinated in
A. 1974 B 1984
C. 1994 D. 2004

85) In Cricket, the two sets of wickets are
A. 18 yards apart B. 20 yards apart
C. 22 yards apart .~ D, 24 yards apart

86. Indian Satellite launching station is located g
A. Sriharikota (Andhra Pradesh)

B. Salem (Tamil Nadu)

C. Solapur (Maharashtra)

D. Warangal (Andhra Pradesh)

79,

80.

81.

82.

83.

84.

85.

86.

» Download Testbook App

TG B gewl F AfdrwaH mﬁn
T 82 o
A. 545 “-B. 550
C. 552 D. 560

HIRA B "o 1) ey off

A. ST 2Rverg B. 31TeTH 3MRT
C. 5y D, et &1 T
I T e W & wafe 27

A. Bid] B. wedle

C. ahedra D. dsfijeq
WD B R Jearery wat 82

A. g B. ST

C. % e D. ®reig,

TATETET Sed =T & AeN 8 @
A. 3R B. ArTTels
C. 35Uae e D. SuRiTs |+

NG &7 98l SUE fhwd =19 uv 2
A. aRiE B. 9 11
C. 9IhY 1 D. grEfafay

gfexT TRl &7 g v @ W of
A. 1974 § B. 1984 %
C. 1994 # D. 2004 ¥

fovdbe ¥, e & < 9 & .
“B.20 o1 7.

A.18 TH X
C.22 T D. 24 T ¥
ﬂwﬁaﬁéﬂmw%ﬁ’fﬁw%
A. HA1eRPreT (arier wew)

B. WelH (dffeg)

C. IR (FeRT)

D. IR (3fier e
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s the first Indian to g0 into space

P
* " Ravi Malhotra B. Satish Dawan : . aierfeE # S 9l 98 i
AK jpana Chawla D. Rakesh Sharma — ﬁ_'{ﬁ L CEEN B. T aﬂﬂ;{
e C. el A D. TSN
i this kind of device:
£z ) A keyboard 15 : ‘
r A, black B. input gg, T DTS T FFR BT IADLA 2
] Sutput D. word Processing A, TRTE] B. §9YE
| /g/ C. Ar3eye D. 91 HHIEHA
go, The Nobel Prize was first awarded in
e 6 B. 1958 o, ad wa ysd Aine gy fa T o
, A. 197 8 :
' c. 1901~ D. 1972 A. 1976 B. 1958
19
C. 1901 D. 1972
g0. Who is the supreme commander of army in
India? a0, Wiee W @ waied HHIST T,F?FEIE.Tqﬂ w0
A. Army Chief B. Prime Minister A, BT WHE B, WE™ |3
C. Admiral D. President < . v=fhTs D. Traf

9]. Confinement of any enrolled member of the g1, @ B TRl ARG e @ G B THE,

Force within the Force or a detachment of the dree FaeR TS, Rl v de R e
Force or a post quarter guard, building or tent 21 frern # v A 89 TEd & |

under charge of a guard is called . A ST AT B, TN AT

A. Open Arrest B. Closed Arrest k«/ & g 5 ﬁ'i’fﬂﬂ

C. Arrest D. Detention ]

. Pet ishments under CISF Rules can b
" avarded o s Yhoryees Bl S S R g

A. Head Constables B. Followers E%E :Gn g
C. Constables D. All of the above " A. TS Fieda B. ST

C. B D. Suddd

93, The superintendence and administration of the
force lies with:

93, dal &1 aefET AR wee s anlE B

A. State Govt, B. Central Govt. V’ﬁ AR IR B. & FHR

C. Central / State Govt. D. None of the above C. &= ¥R IS0 WPHN D.FH | Py TEl
94. Which branch is not a constituent part of the g94. P I IE, 91 HT TF "D e 81 &

force A, HTHPHRI TRET

A. Executive Branch B. HATETAN TmdEm

B. Ministerial Branch C. B} |

C. Fire Service Branch D, TEREd ATl

D. Maintenance Branch \.//

S19°
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R —— | .
as 2 : C.I-S-F) Elﬁ

95. Central Industrial Security Force c18%) i 95, P sl g {
established in / 1 Tl <N B. 1969 |
A. 1959 B. 1969 A. 1959 D. 1960 ~'
C. 1970 D. 1960 C. 1970 ’

96. An enrolled member of the force canno! F’ﬂ %, ¥e o fardl e 7l sz&%ﬁﬁ?ﬂgﬂ#l
detained under Force Custody without tr14 warfera fdHy T W ® @ 2
convened by Commandant / Magistrale for d ey a fRwrad # yr Jll gepdl
period of more than /I A. 7 fe= B. 8 I°7
A. 7 days B. 8 days C. o 2 D. 10 fe

C. 9 days D. 10 days
o7, e 3 @ @r—w @ CCS Immm

97. Which one of the following CCS Conduct P 1064, ST ARl @ A Safe

Ezi:,rllgij r::ls with sexual harassment of s 5
& Erit:| B. 7o\ 20

A. Rule 14A B. Rule 20 A. 14A 2 -

C. Rule 3C . D. Rule3! C. frgm 3C . frar

98. CISF Act allows it to get inducted into 96. CISFaifiifys g9 e iffrerTs &1 Sgfd

A. Only Public Sector enterprises <ar 87

B. Only Joint Sector enterprises A. Badl gfects Haey e

C. Only Private Sector enterprises B. acl Hd TFev JeM

D. Both Public & Private Sector enterprises 'L// C. Fdol m’gﬁg Hgew JEH '

D. €T ufeds iR Ursde Waew SuH

Bg.ﬂﬁﬁmﬁﬁ:{'wmﬁWWiﬁﬁT%'

A. Payment of Wages Act, 1936 A, 90 rar s, 1936
B. difenfie faars aferfam, 1947

B. Industrial Disputes Act, 1947
C. Police (Incitement to Disaffection) Act 1922 " C. yfevi(gTargca < feaarhae )srierfias, 1022
D. HRErET SAEFaH, 1948

99, Which act applies to the member of the Force?

D. Factories Act, 1948

100.Arrange the fn]lnwing posts in order of | 1mEFﬁEHT @ &H ﬁﬁfﬁfﬁiﬁ‘]ﬁ Usl B R
Sitarity g, = j o> (1) FERIS e wRe
(1) Assistant Inspector General 0 \ (2) R 7D
(2) Director General Efa e
3
(3) Inspector A Eﬁ s
(4) Assistant Commandant (}
A. 1234 B 2143 A1234 B. 2143
C. 2413 D. 3124 C.2413 D. 3124
'.L AT F "I i I d
r\ll, ETL { V1t " \
e ot ” " \ -
:{'{_’ \ iy n ":\Jla{?,‘i w, .,N,“
AN ;/, ) ‘\.{ L R, __,.-f"%
IR C Ve I ST L ' Wy
wa) o A ) o L }_Jrr’f.- 'ﬂf'ﬂ"\ \
" O\,”\ /’T}:ﬁ\ r & w3
'1_' Ak ./’-_L-
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, E_xmeaus—.—memlsxand+
1. I + mean _16x17+3=1

then 38+19
porans B. 19

Rl
A. 16
s D. 12

bl
2 of

A

f 102. Which set of signs should be pul at the place of

: # in the following?

25#2*5-—4*' 1#0 20 A s E C
\.4‘{)':, = X%t SO -6
BL-:—. —.X.+ ".._I'._.!
] C. X,:-'h —_
D. x, +,+, X

103. The average weight of 14 children is 22 kg. If
the weight of the teacher is also included, then

5 x\b =\t

104,

» Download Testbook App

o _ﬂq;’[ wadd +, X @ "Add =
qﬂaaxaﬁi'+ﬂﬂ3ﬁi+'g

| Y 38+19-16x17+3=7 7
A 16 B. 19
c. 18 D. 12

100, FrfIRaT ¥ ¥ B w1 firg « & W@IF W

RN

'y

E ‘an r:~

AT I Ay
125%2%6 = 4*11%0

AL X, — X+

B.+ = X+

B =+, — > aﬁi’:_h

D. x, 4,4+, % égﬁ{ )

103. 14 g=df ®7 siraa aurd 22 fen 21 afy

ﬁwmmﬁmﬁaﬁﬂ o afrea

. the average weight becomes 23 kg. What is the ¢ a9 23 fhal & T & | P 7 999 a1
teacher's weight? 22 WY 27 22X KT
A.34kg alﬂg.?kg qe AR e Gy T\C )
C.40 kg D3ske  Yrpm Sgra o -l

i - 35 kg “A0% 7 . 40 foe D.35 el =< uT
104. What will be the LCM of 8, 24, 36 and 54 ?;t;i;r‘ 104. 8, 24, 36 X 54 BT TYTH WHYGE (LCM)
A. 54 B. 108 | “;a‘u', 41 g ?
& 216 D. 432 s '~U‘ "). i -
.4 C.216 D. 432

105. The H.CF. of two numbers is 11 and their 105 &1 WY wEew WATade (HCF) 11 ¥ aiik
L.C.M. is 7700. If one number is 308 then other EREARCEGLI TGS (LCM) 7700 ® | Tfe
number is T HET 308 & O g W &

A. 269 B85 A.269 B. 285
B. 300 D275 B. 300 D‘ 275
106. Find the greatest number which on dividing 106. s a9 e ST oy R 1661 iR 2045
1661 and 2045, leaves a reminder of 10 and 13 @1 forqfirs o v e 10 3% 13 AyBer
respectively AT B
;. 11225 B. 127 bl ) A. 125 B. 127
- -"F.-r.-rr
4 D, 137 \ B. 129 D. 137
07. Which is smallest prime number 107. W B anre T @
A, \EgP
. {33 2 A.0 B.2
: D.7 C.3 D.7
W 108, e IS
@;E least number should-be added to 1056, 50 I a;. quﬁ o f tows A Bryreg
o € sum js completely divisible by 23 = 3 T 23 Tﬁ e '
2 =1 g
D. 3 )‘xﬁ ch A ol
£ (kg P - C. 2 D. 3
"'ﬂ‘l N \Eg )’ =,
o Vb 2y e M
ﬁ" '.’jr q}_ﬂ_ 1L. .-}-J_J‘ :I/;’/
: \ ‘5 P Vx o
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1-- ]
109" A sumber when divided by 44, gives 2%

quotient and 0 as remainder. What W‘”::r b T ¥ 432 R TIPS
;‘ﬁ;maml:lcr when dividing the same numm y e By 31 ¥
' BT
e B. 3 A.5
£ SBA
wah Sff’; R =d4434 T ) 110, 8589 - X = 4434 e
* B. 2321 ”._‘-r""" 2 :"-"h 4| 55 .
) C. 3155 D. None of above  ‘a “x_t?_'__ C. 315 5 D. FURIH LI B
IT1. 617 + 6.017 + 0,617 + 6.0017 = ? Xeai =7
- : ; 111, 7+0.617 + 6.0017 =
A. 62.96357 B.6296357 0 WM\l NP B. 62963.57
C. 6296.3 629 b
96.357 D 629.6357 B, o n:th C. 6296.357 D. .529.635?Ncb
112. (308 s 2 7
(3080 + 6160) / 28 "o 412, (3080 + 6160) / 28
A. 380 B. 350 0 - L e
C-330 D. 310 7"\ o8 380 . - A
e "3",'\:. e C.330 D.310
SELIR
113. How many pieces of (.85 meters can be cut e <113, 425 Aoy ofdl T ver A ¥ 0.85 HIET &
from a rod 42.5 meters long y : .. ﬁ}mﬁ aaﬁ FTE A7 P B
. A. 30 B. 40 ' e ) A. 30 B. 40
2750 D. 60 NV B. 50 D. 60
114, Simplify N7 14, e R “
16 — [5— (6 +2(7 — 8 — 5))] 16— [5 — (6+2(?' 8 — 5))]
A.23 \B/25 A. 23 s B2 :
B. 28 D. 30 B. 28 10 D.30 2
LR
oK)
115, Simplify 115, TRCTHIOT Y
3 1 2 3 1 2
LA Sl s/ 1=+ 5=+3=
14 + 53 + 3 - ; 7 +. 3 5
29 29 29 29
/(iﬂga B.8Z A 102 B.8Z
29 29 a9 s
CG'ET}' D4EE C'ﬁﬁu D'45|:|.
16. Evaluate 116. JedId Ei
V1471369 V1471369
L1213 B. 1233 A 1213 B. 1233
B. 1243 D. 1223 | B. 1243 D. 1223
™
h WP \2
-18- LA

o | ' b7
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-._'-.“- : I N = I
S . +vearage of 50 numbers is 38, if two : : =‘
15 117. The average SR L il 15, 50 st @1 st 38 €, afz & H@IQ:J,E_ .
~ average of the remaining numbers? L-q;\gﬁ!%tﬁ 4 55 Pravrer < <, <t 3wl we
; g;B?.j D. 37.0 \E2 E5A. 365 B. 37.9 A
! P 3 /;'. ."ﬂ,.-”' . 3?5 D n . 3 ...V
. \ﬂlﬂn"' C i '"1“1:““ P
B " = " o _,-"'-' O
118. The largest four digit number which is a /’ﬁ . . N
perfect cube, is: : \?’,ﬁ?ja_ A T AR IHIY F@w W gh guf o= %/’ 2.7
Il A 7000 B. 8000 WAL 7000 B. 8000
79261 D. 9999 C. 9261 D. 9999
119. Find the sum of first 30 natural numbers
A, 470 B. 468 119. TEl! 30 WIgT Heamsdl BT AN wE STy
¢ gI465 D. 463 A. 470 B. 468 o
C. 465 D. 463 e
120. A l;:-a}:smz;n Il;nakfas a SCDIiEE‘?f 87 runs |I:;1 ﬂ;ﬂ]ljt: 120, TH TR 17 5 7 9 87 T a8 Eﬁ_{' f/’:\
IT& chl an l, ;.:15 m](f;‘ﬂhasea :;s average by 2. rin r Y - W TE T SEET atEd 3 9% W 273 he_,. -
0 is average after 17th mate &P Yo B g ST ST UE B 5{3{\ r
36 B. 37 - L 0l W
C. 38 D. 39 4 > ,;.J:Lh C. 38 D. 39 2
121. Fmd Ll:e numbsr, wi;en 15 |£s SPbTSEICd fl’f.ltli'l-l‘l 7 121, T& W ST F, S/ 15 T W -.-'_'1
times l!_’fhm::;;i; the resail a8 L G Ao s W Herd Wik 8, 1 uRem @ $1 ar
L”""ﬁ"‘” g o < 10 @ B 8
3 ! A5 B. 15
: D. 4
Gile? C.75 D. 4
122. Find the number which when multiplied by 15 122, 98 TR ST DY W1 15 F TOT P T 196
is increased by 196 W a¢ Ty &
A. 10 B.12 A, 10 B. 12
C. 14 D. 16 C. 14 D. 16
123. Sum of three numbers 264, If the first number 123, & Gl BT e AT 264 & | AT vEd
be twice then second and third number be one e, qEd T @ S 8 o AR
third of the first, then the second number 18 W ugel @1 ud foerg gl ar ’{ﬂ"’fl e 8
A. 70 B.7 * A.70 B.71
C.72 D.73 C.72 D.73

104, WM o8 ¥ UEd W 7 AT Bier §1 A

124. Sachin is younger than Rahul by 7 years. If the
il G?aﬁargtﬁraﬁqmr:a%,aﬁﬂ%?ﬁ

ratio of their ages is 7:9, find the age of Sachin

A.235 B.24.5 3T T HIAT
C.125 145 A.23.5 B.24.5
x ' S
2 ) R
@\ S _,71 ,,_‘u"»t“‘
@ QD ; 'a 7 '_]/ z19- ?-,-i-"i'" *
E Fal
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125. What will be the fraction of 4%
A, 1/20
C. 1/75

126. Two students appeared at an examination- One
of them secured 9 marks more than the Other
and his marks was' 569% of the sum of Ihﬂlr

» Download Testbook App

125, 49 @1 = a1 8

S /50
5 2140, vl
C. 1/75 : i
: »y gra gurerd BU1 5P By §

a1 H 9 AP
iﬁﬂmﬁﬁmﬁwﬁﬁﬁ%ﬁl

marks. The marks obtained by them are A > N 5 T ai B

A. 52,43 B. 42,31 B. 42,31
QB4 WYy v AL 52,43

C.4232 D. 42.33 it C. 423 D. 42,33

127. If number x is 10% less than another number y
and y is 10% more than 125, then find out the

12?_@@,{35{[@?#1“%“%3#
F125ﬁ1u%ﬁwﬁrﬂxﬁmm

value of x BN
A. 123.55 4B. 123.65 A 123.55 B. 123.65
C. 123.75 D. 123.85 c,. 123:?5 D. 123.85
128, 481.[}{} people are employed in a company out of 128, U HIAT 4800 ST B STHe OY Y g
which 45% are males. 60% of the males are fore @ 45 FRY 799 & 3R goul ¥ 6o
either 25 year or more in age. How many males wfyera a7 ar 25 a4 @& g1 IEd a9 8| oy
'] . &) i 1 £ 5
zrge :herc in the company less than 25 years of Wi 3 H oy fba qsy Hrpel WX & foraT S 25
(=f) Al T G -
[\
A, 2640 B. 2160 WG 0 WA T % B. 2160
; : . I:'II ? . A 26’4[} &
C. 1296 D. 864 - D. 864

129. If 15 X 25 : y. thenx : y=1
A.2:1 Br1:3
| Sede £ 01| D.1:2

130. A can type 10 pages in 5 minutes. B can type 5
pages in 10 minutes. Working together, how

many pages can they type in 30 minutes?
A. 15 B. 25

C.65 B T5

131. Manish invests a sum of Rs. 3750 in insurance

50 s C.1296

p oA
4120, AR 15:x =5 :y, W x:y="?
A.2:1 - < B.1:3

W', &3 D.1:2

130. A 5 f5ie & 10 U €89 &Y gbdl & aur k
10 fie % 5 E5U BXaT & | 30 AT # W
§ M $ §Y 98 [l fbas U9 <5 Bl
A. 15 s
C.65 D.75

131, #9991 it #§ %, 3750 99 e

policies which is 20% of his monthly income. Wl WS AN AE HT 20% g oW
His half yearly income is % aefarfde g fhaey & 2
A, Rs. 112500 &/ﬁs. 225000 o A.®112500 B. %. 225000
C. Rs. 18750 D. Rs. 230000 - C.%. 18750 D. %. 230000
i |4

; it Wy 1 = i f -‘.f , 'LV o

¢ S SN AR TN

'\ O g | "r-\:'f "LE"QSE '\JL : ‘- 3 J_: i

& = .f",f i \uﬂ, = el - 5
S Wr | . w0
\ -20- ,
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2; A father increases the pocket money of his son
| by 20%. If after the increase, the son gets Rs.

» Download Testbook App

mgﬁiﬁl‘?ﬁﬂﬂﬂ frey <

2 afx 9fF

. 100, how mut‘-l; pocket money did he receive :';Tﬁ A TES 9N B uiee T=h ey ofr
R B. 240 oD D 250 B, 240
230 5 250 W2, 23 S 200 D. 230
C. 200 e v;_?tl_? Al
" 133, The height of 3 towers is in the ratio of 5:6:7. ﬁﬁm 3 AN @ Harg 567 B oE A v AR
_If a spider takes 15 minutes to climb the @ wPel wEw Ui AR w® oAed # 15
smallest tower, then how much time would it firfe ol 2 o) WA S WFR W gen
3 *  (ake to climb the highest tower? N 0 R gug i ? '
A. 15 minute B. 18 minute S7 AN A 15PFE B. 18 fime
~C-21 minute D. 25 minute ki C. 21 fiFe D. 25 famie

134. A tap can fill a tank in 2 hours and by another
tap the tank becomes empty in 3 hours. In how
much time will the tank be full when both the
taps arc open

1
Al =
C. 4 hrs.

hrs. B. zg-hm

 D.6 hrs.

135. A producer of tea blends two varieties of tea
from two tea gardens one costing Rs 18 per kg
and another Rs 20 per kg in the ratio 5 : 3. If he
sells the blended variety at Rs 21 per kg, then
his gain percent is
A 12%

C. 14%

B.13% ~
D. 15%

136. A shopkeeper fixes the marked price of an item
35% above its cost price. The percentage of

 discount allowed to gain 8% ig,

A 18% . 20%
; C.22%" D. 249
137. Rs.

120 are divided among A, B, C such that
A's share is Rs. 20 more than B's and Rs, 20
less than C's, Whag is B's sh

©
A.Rs 10 \B*Rs 20 I )
C.Rs24 D.Rs 28 0!

C " n
¥ooe e wa
D P TRNEP* 0P
\ n,"f‘_‘“-' Wk
R

134,%%2@’?@%“!55{‘%%
T A W SF 3 S H el B W €|

T A9 g 'R W 8% o wy 4 g
W AR

ja,”]—; 0 B.Zéﬂ%

C.4 52 D. 6 =

- 135 91 & UF AT A 7 9 qume S =5 @)
= fovd 5 0 3 & g # AfE &9 e
ANTE 18 FUY TAT 20 B9A Wiy frwmmm &
i 98 T fow &1 21 v vl feem
YT 99al 8, o SHBT @ wieowa &

A 12% B. 13%
C. 14% D. 15%

136. U THFER AU AP qed W 350% W
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% B. 20%
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St 0138, 3 o ot R PR S
. g of a i ® g df T & | R 8 He H 520 W
138. The avcragz ;ﬁz © The car Eﬂ\lc{iiﬁtﬂuﬁh wi 31 13 w2 & 2 Pl o
ﬂ;csrzagispfc 8 hours. HoW L A. 2553 f5ef B. 2585 fay 2
0 m mn Lok , - o ) [ N .’_
. the train cover in 13 hout* : 2585 KM C. 2355 faAl D. 2535 ot 4
A, 2553 km A & km
C. 2355 km ﬂ s
- o by the 139. o 40 @ Hre arell UH ARG Bl SRy
139. An item costing Rs. 840 “‘I""'.!i:.lq sold Y BRI 10% @ WPT 9= a7 7 o 3R 33 n,
. - % o 1 - : i :
the new buyer at a 105 = ' ] B
pl‘l:!:‘:i of the item is 708 - 14 B A 877.80 B. 798
A7 877.80 : - il C.924 D. 777.80
2 il Vo a1 B U\ .
D.777.8 S Lk
| C. 924 W
: or Rs. 140, ' medl gt L
140, If a man were to sell his wrrst\'r'ﬂlc_h for o 720 TUA F IR DI 3 Ty ‘a@l{h
720, he would loose 25%. What price Mt AT 8 o GW 25% BT JHA N 250
sell al fﬂfagﬂﬂl of 25% a% G| q]ﬁ- $ ﬁ-q w I Y 'Jic_'ﬂ o aﬂq—[
*AL960 B. 900 fe
C. 1000 Dl 1200 A. 960 B. 900
C. 1000 D. 1200
P e and a discount of 3
| 141, A%fnn. is rf;eid at Rs. :ﬁnﬂ ﬁ:{d :”ié: " 141. U& 9% T 7og o 1500 & 3% I TT 209
: e 1k . j f = -
:;ditiufal ﬂdi:;c:unlm:nusl be offered to the mﬁ Gl &l :
' : o L 1104 HE @1 WA B AN a1 0 w4
. customer to bring the net price (o Rs. i :
| A3% B. 10% 47 B0 1104 5 oIy
| C. 12% D. 15% b B. 10%
_ C. 12% D 15
b | . 15%
- | 142. A number is first decreased by 10% and then .
increaséd by 10%. The number so obtained is 142'. L , bl Tiﬁﬁ L ST § G’ﬁ.;
30 less than the original number. The original fhR 10% aemn T &) T e @
number is W 50 PH B | Hel v @ ' :
A ;59{?1] B. 5000 A. 5900 o3 B. 5000
C. 5500 D. 5050 ~ G550 NYln 5050
f-!..? s " ) ; .:}_--- ! I‘ , 4
o 75 7 G “rpD
1431ﬂ17f?[‘.l%§:the Students in a schoo] are boys and o0 143, IR Bl a4 70% B ?’i@% g d
€ number of oj £ : -
- j/ of girls be 504, the number of boys STefddl &1 W& 504 R, T Fed) 9 e
1 1176 B. 1008
<1176 o A ;
C. 1208 B, IE]DS --.-e'(i: :“‘”’]‘!". C. 1208 D. 3024 5
D. 3024 \\92 -
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{ bbx‘.:ll’] sweets is distributed between A and
g the ratio 3 : 4. If A got 36 sweets, what
if]

2;5 the total number of sweets?
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.E_ig_w’}w., e 7

iﬁ-g TR A ik B B 34 D
?;mﬁ.ﬁﬁaﬁﬁﬁmamﬁlﬁﬂﬁ“

el &, @w fMewdl @ w@en

784 v M %
A 12 D. 27 IRSVIRL TS - B. 84
C. 144 P N A 12 :
e A D.27
-:L \hy . 144 *

: ; ' IRy N
' 145. At the same rate of simple interest, sum of

interest of 300 for 4 years and the interest of
400 for 3 years is 120. The rate of interest is
A.5% B. 4%

C. 6% D 10%

),

“}' _;".,_-'\-"‘II
r?}!::":’

g -;;.rn.r
(\ﬁE B borrows money from A at 6% p.a. simple

~ interest and lends it to C at compound interest

of 10% p.a. If B colleets the money back from
C after 2 years and repays A, the
by B in the transaction is
A. 1050
C. 450

profit made,

P

B. 500 X~
D. 600 k./

147. A man walking at the rate of 6 km/hr, crosses

the bridge in 15 minutes. The length of the 1.

bridge (in meters) is
A, 1250
C. 1450

- -
.-.I-'
s )

B 1500

D. 1600 Y

P
r = /!
148. A car goes 10 metres in a second. Find the

l -
speed in km/hr.
= A.40 B.32
| C. 48 Y 36

\©
[ .'_-u _"._ -
2N
| 149. 1 the radius of a circle jg increased by 50%, its
| area is increased by

A. 125% B. 100%
C. 75%

i D. 50%

150, 15 men can finish a piece of work in 40 days.
- The number of days after which 5 men should
leave the work so that the work is finished in 45

O
days altogether is = \A
A. 10 B. 20 <
C.30 D. 35
-23-

P s, qm A
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&

TR =T %1 8Y U¥, Ho 300 &1
4 A B g =T iR To 400 w3 Wi @

0 & @1 o AN 120 B | AW BT e
v foreE @
M, AS5%
U C. 6%

B. 4%
D. 10%

Y46, B, A I 6% Tfid TWERU =mw @1 27 gz
iR SR W R 39 10% aifte

W' e @ g W C #) SuR @ R ul B o
of @ gg C 9§ o7 Ao o 8 sk A @
gHIT 8, 91 B 8F1 oH-—a9 A fhar war
&

A, 1050 B. 500
C. 450 D. 600
(147.8 TRl /6T B R & 99 5w a@fn 15

rﬁazﬁgam’smmmm%@aﬁaﬁ

"“k;_; g (frex #) @
A AL1250 B. 1500
» C.1450 D. 1600

fﬁma.wmwﬂﬁﬁmﬁamﬁﬁ%lmaﬁ

TR/ ower % s i
A. 40 B. 32

C.48 D. 36

190. 15 929 40 RY % v @O q@ v wE ¥
s are s gt =t @@ ois 3 @k
W FET gam B 45 Rt F T wE

& wy
A 10 B. 20
C. 30 D. 35
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Complete the sentence using the given optio"®

151. She wants to become ----- engineer
A.a . an 1
C. the D. no Article ¥
152. He went on ----- foolishly.
A. spoke . B. to speaking
C. speaking D. speaks
153. Lock the door before ----- out.
A. go B. be going S
C. gone D. going ~
154. She is not interested in --—-- sweels
A eat B. eaten -
C. eating . D. to be eating =~

155. I ----- him very well.

A. now - B. no

C. know o~ D. none
156. His legal -—--- is sheela.

A. heir 1o B. hare

C. hair D. here

157. My friend is a ----- officer.
A. navval ‘B navel
C. naval D. none of these

158. He has a ----- for writing.
A. flare B. flairs

C. flair D. fare

o

159. The ----- of the cats are sharp.
A. paws = B. pauses
C. pause D. none of these

160. Find the plural of the word Thief’

A. thievs .~ B. thivee
C. thiefs D. thieves L){
e
-~

In the questions (given below) out of the_fﬂur \
alternatives choose the word which is the exagy
OPPOSITE of the given word.
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\“{ﬁl. COMMISSIONED

24-

B.Closed
D. Terminated ./

A. Started
C. Finished

162. ENORMOUS

A. Soft B. Average

C.Tiny «," D. Weak
163. MORTAL .

A. Divine \,B/ Immortal

C. Spiritual D. Eternal
164. ARROGANT

A. Humble ™" B. Cowardly

C. Egotistic D. Gentlemanly
165. ACQUITTED

A. Freed A7 B. Burdened

C. Convicted D. Entrusted

In the questions giiren below, rearrange th
parts which are labelled P, Q, R and §
produce the correct sentence,

166. A French woman

P : committed suicide
Q : where she had put up
R : who had come to Calcutta
S : by jumping from the first floor balcony
the hotel
The Proper sequence should be:

LPRQS B. QSRP
C. RPSQ D. SRQP
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' u need help

; ..il;orﬁmptly and politely

: Q: ask for attendants

R : to help our CUStOmers

§ : who have instructions

The Proper sequence should be:

A.SQPR B. QSRP
C. QPSR D. SQRP
168. Little

(P) that he had been let down

(Q) stood by all these years

(R) did he realise

(S) by a colleague whom he had
The Proper sequence should be:

A. QSPR B. QSRP
C.RSQP D. RPSQ

169. Reading books
(P) 1s a habit
(Q) but also enlarges the mind
(R) because it not only increases knowledge

(S) which must be cultivated by everybody
The Proper sequence should be:

A. PQSR B. SRPQ
C.PSRQ ~~ D. PQRS

170. The stranger’s movemenis
(P) and the police (Q) him
(R) arrested (S) aroused suspicion
The Proper sequence should be:
A. SQPR B. RQPS
C.SPRQ D. RPQS

In the questions given below, four alternatives
are given for the idiom/phrase underlined in the
sentence. Choose the option given under each
question which you think best expresses the
meaning of the idiom / phrase.

171. The captains of the rival teams should try to
bury the hatchet.

A. win the game

B. forget the past

C. put up a stiff competition

D. make peace L)
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17, gpe didn’t realize that the clever salesman was
. 5

aking her for a ride -
i forcing her to g0 with him
,B{'irying to trick her
: C. taking her in acar
p. pulling her along

173, The police looked all over for him but drew &
_A. did not find him
B. put him in prison
C. arrested him
D. took him to court

174, The failure of crops in successive years put the
farmer in a tight cOINEr.
A. in a closed room
B. in a small field
_C-in a difficult situation
D. in a mcadow

175. The saint's life was an open book.
A. an uncomplicated one
{-B’,’(/ﬁ'm that held no secrets
C. an example to all
D. an interesting biography

In questions given below out of four alternatives,
choose the one which can be substituted for the
given wurd.fsmter!ce.

176. A person pretending to be somebody he is not
A. Magician B. Rogue

C. Liar (,_D Imposter

177. A person of good understanding knowledge

and reasoning power
A. Expert "ﬁ" Intellectual
D. Literate

C. Snob

178. List of the business or subjects to be
considered at a meeting
A. Schedule

C. Agenda .~

B. Timetable
D. Plan

-25-
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179, That which cannot be seen

A. Insensible B. Intangible
C. Invisible

D. Unseen
180. A religious discourse
A Preach B. Stanza
C. Sanctorum D. Sermon

Some proverbs/idioms are given below togethier

with their meanings, Choose the correct meaning
of proverb/idiom

I81. To smell a rat

A. To see signs of plague epidemic
B. To get bad small of a bad dead rat
C. To suspect foul dealings "

D. To be in a bad mood

182. To hit the nail right on the head
A. To do the right thing

B. To destroy one's reputation "
C. To announce one's fixed views -
D. To teach someone a lesson

183. Bury the hatchet
A. to break peace
B. joint operation of killing
C. to make peace ~~
D. none of above

184. To leave someone in the lurch

A. To come to compromise with someone —
B. Constant source of annoyance to someone
C. To put someone at ease

D. To desert someone in his difficulties

185. Lions share
A. look angrily
B. minor share
C. heart of the prey
D. major share _~~
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Directions: In each of the question Eiven by
FOUR words A,B,C, D are given, one of
may he spelt wrong. Find out the worg, .=
spelling of which is wrong.

e

Tinte
s nswe
186. A. accepted B. mentione
C. upportunity .~ D. physician T
P
187. A. perform B. pcrfltlﬂ'l N C
C. procedure D. particular t
t
188. A. enormous B. pilgrimage 1;
C. spontaneous D. temparament - _
189. A. passenger . B. variety
C. retalitate D. conquer
190. A. monotony B. practise -
C. ocassion D. Obscene

From four possible alternative words you need
select the word that can be used as substitute to
the given group of words

191. An office for which no salary is paid
A. Hospitable B. Free

C. Honorary " D. Gratis

From four possible alternative words you need |

select the word that can be used as substitute to
the given group of words

192. A place to bury dead bodies:
A, Catacomb B. Crypt

C. Cemetery \ " D. Sepulcher

From four possible alternative words you need[;-
select the word that can be used as substitute tiv

the given group of words E
3
193. A hundred year old man: o
A. Century B. Centurion it

C. Cent D. Centenarian V|
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.'lthe following passage carefully and answer

e
i

Jquesﬂnns given below it. Certain words are
inted in'bold to help you to locate them while

answering some of the questions:

The Sun, while going on his daily rounds saw a
princess and fell in love xzith her. Whenever he
could slip away from the heavens he would
take human form and go down to the princess
to spend some time with her. The princess too
became quite fond of him and would wait for
him to come. One day the Sun decided to send
her a blood-red ruby as a token of his love for
her. He put the gem in a silk beg, and calling a
crow that was flying past, asked the bird to
deliver the gem to his beloved. Crows had
milky white feathers in those days and it was
considered auspicious if a crow came anywhere
near you. So the Sun was pleased that he had
found a crow to deliver the gem. As the crow
sped through the sky with the silken bag, the
aroma of food lured him. Looking down, the
crow saw that a wedding feast was in progress,
and immediately it was distracted from its
mission. Food was one thing it could never
resist.

Alighting on a tree nearby, it hung the bag on a
twig and went off to find some food. While the
crow was feasting, a merchant passing by saw
the'bag on the tree, and knocked it down with a
pole. When he opened the bag and saw its
contents he almost swooned in joy, Quickly
pocketing the ruby, he filled the bag with dry
cow dung that was lying there, and then deftly
relurmed the bag to the branch. It was all done
S0 quickly that the crow missed all the action.
*’"I:flEl' having its fill, it flew up to the tree, and
Picking up the bag and took it to the person it
Was intended for. The
Eardep, When
I Cagerly,
Bug When

F in shock
Un'g Wa

princess was in the
the crow gave her bag, she took
knowing that it was from the Sun.
she saw its contents she reeled back
and anger, Believing that it was the
Y10 telling her that he did not care for

&
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T —

her, she flung the bag away, rushed to her
palace, and never came out again, When the
Sun learnt of what had happened he was
furious. So great was his anger that when he
wmed his scorching gaze on the crow, its
feathers were burned black. Its feathers have
been black cver since. The ruby did not stay
with the man who stole it. It fell out of his
pockel and rolled into a deep pit. Men have

been trying to dig it oul ever gince, Many
precious stones have been found in the proCess.
making Myanmar one of the richest sources of
rubbies and sapphires, but the ruby that the Syp:
sent to the princess is yet 1o be found,

194, What did the Sun send for the princess as 1
token of his love?
A. He sent her the crow
_ B. He sent her dry cow dung _—
" C. He sent her a red ruby
D. None of these

195. Why did the princess fling the gift away?
A. She did not like rubies
B. The crow was known to bring bad luck =~
C. She had found cow dung in the bag

D. She had wanted the Sun to personally
deliver it

196. While on its way to the princess, the crow was .

distracted by:

A, The temptation of the smell of the food

B. The wedding that was 'takilrtg place below ~
C. The ruby that the Sun sent for the princess
D. The merchant calling out to him

197. Why did the Sun send his gift l'ﬁr_th:: princfzssi

along with the crow?
A. The princess loved crows

N

B. The crow was the only bird available at the —

time

C. The crow was considered to be an
auspicious bird

D. The crow knew where the princess lived
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C. To make the Sun angf palae
D. To keep the princess in -
. ihe y
jing
{99, The joy of the merchant on finf
| b¥

was short lived becaus

A. He did not .~:ucuccd el
B. The ruby fell out of his POe™”

; il Iﬂl: i
. The crow returncd just v
him red handed
D. None of thesc

: e
in qrealing th

d caught

I}
el hiﬂ‘:k Eﬂlﬂu )
get its " sun .

200. How did the Crow
ished bY t

A. The crow was pul
clumsiness
B. The crow was purned plack by

gaze of the angry Sun _
€. The crow was not considered auspic

the scorching
jous any

G

more
D. The crow was cursed by the merchant
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